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If he took it out to a public domain, there is no stealing prohibition

Overview

The X711 is discussing the case of 771 that he is M5 from paying since the 70X
naw and 7213 MO°K happen simultaneously when the article was dragged into the
7"77. The X n3i asked that if it was dragged into the 7"777 the 213 does not acquire the
72°1,! since there is no 712°wWn 1°Ip in a 7"77,2 so why should he be 710; they are not
happening simultaneously. n901n clarifies this question.

mooIn anticipates a difficulty:
= (0w &, q7) NYOND NILT NP PI93 90NRT NN NIONT 2) DY 9N

Even though there is someone in the first 295 of 2''2 who maintains -
= 405390 MY I1DON 30TNRT I MNP NN 71T

That four X of a person acquire items for him even if he is standing in a 9779 —

mooIN responds:
= SNINY DIYM VIAY 59NNINND 1IN RHT NNINN 93) D91 "N

When is this said (that X"7 is 7"772712), only regarding a found object, lest people

come to fight over it, or by ©3 on account of X1y -
SIMNIN /T ID NPIY 1PN KD 23D Yan

However the o201 did not institute that X7 should acquire for a thief.

Summary
X"7 is 1P where there is a reason, however not by 72°13.

Thinking it over

"' In order for one to be considered a 231 he must acquire the 712°23 with the same type of 1P with which one acquires
an item legally, like 71772537 or 72w,
2 See Mo°x 71"7 "W,
3 There is a rule that if something (7757) is found within a radius of N¥X '7 around a person he acquires the item, even
if he did not touch it.
41t would seem obvious that there is no X"7 P3p in the N of the owner. However once it left the mwA of the owner
and was in the 1", the law of ®"7 11p should take effect (according to this 7"n) concerning 772°13 °1°1p; so that the 21a
acquires it to the extent that he must return it or pay for it (if it cannot be returned).
5 The X"7 1°3p is @ 2’31 NIPN (see n"1 there) that a 7x*¥n should be acquired by the first person who enters into its X",
so people will not quarrel and fight to try and pick it up first
6 It is possible that the husband cannot give the v into the hand of the wife; he can only throw it to her, therefore the
o701 were JPnn that if the vl is within her X"7 (even in a 7"777) she is N, Otherwise she may remain an 713,
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1. There is a dispute (in the 2°17wX7) whether X"7 is effective [at all] by 71nm1 77707,
or only by nxxn. If we assume that it is not effective, only by nX°¥n, is there any
reason that it should be effective by 712°13?

2. According to m»on answer, what would N19010 maintains regarding "7 by 71777
7anm?
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